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1.     Να υπολογίσετε την τιμή του χ: 
 

(α)      2log 3                                          (β)     
1

ln
5

xe   

 

(γ)     3log 9 3                                        (δ)     
3

log 27
2x   

 
(ε)    72log 57                                         

(β. 20) 
   
2.    Να αποδείξετε την ισότητα: 
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3.    Να λύσετε τις πιο κάτω εξισώσεις: 
 

(α)    
4

5 8

2 125

x
   
 

                                          (β)     
8

3
x xe e   

 
(γ)     2log log 4 1xx                                        (δ)    2 1 23 4 3 6 9 2x x x x      
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(β. 6, 9, 9,10, 8,7,11) 
 
       

4.  Αν ln 6    να δείξετε ότι 3 3ln ln 15e                                    (β. 10) 


